mean # PXL hits vs eta

<pixel hits>

.....................................................................

Ratio

0.95

0 1 2

| mean

# PXL Layers with measurement vs eta

I

.....................................................................

<pixel layers>

N w :
N U1 W D~ G

=
o

o
al

o+

Rati

0.95

—=— DQM_mkFit_TT_base

mean # STRIP hits V|

14

12

<strip hits>

10

lllllllllllllllllllli'l

[

+

w

N

T 0 1 2

3
n

<strip layers>

C uy =
C au® =
[ AR AR

Ratio

=

. tmm +-- +++++W++++.{ W{“’*"’ .
N + N N N N

0.95

w

51T o 1 2 3
n



	Contents
	Page 1


